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Example: A 2.0 kg skateboard is rolling across a smooth flat floor when a
small girl kicks it, causing it to speed up to 4.5 m s in 0.50 s without changing
its direction. If the average force exerted by the girl on the skateboard in its
direction of motion was 6.0 N, with what initial velocity was it moving?
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EXAMPLE: A loaded railway car of mass 6000 kg is rolling to the right at ?0 m
s-1 when it collides and couples with an empty freight car of mass 3000 kg, rolling
to the left on the same track at 3,Q m s-'. What is the velocity of the pair after the

collision?
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EXAMPLE: Calculate the recoil velocity of an unconstrained rifle of
mass 5.0 kg after it shoots a 50 g bullet at a speed of 300 m s-1, with
respect to the Earth
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; &
EXAMPLE: AbaII moving with a velocity of 2.0 m s to the-rig gcollides
straight-on with astationary 2.0 kg ball . After the collision, th @‘ all moves off

to the right with a velocity of 1.2 m s-'. What is the velocity of the 1.0 kg ball after

the collision?
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